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1. What is [¢d/t?
7+ 71t-5

O - —4% +constant
7 (7 t-5)

O 1—8 v 7t-5 +constant
O J;ﬁ AV 7t-5 +constant

O 16V 7t-5 +constant

3t
2. Find the integral of £€— with respect
tot.
731
O ; +constant

O 783! +constant
3t

O 28—’9—3 +constant
3t

O 16—3 +constant

3. Find the integral of g cos(5-2t) with
respect to t.

O - fé sin(5-2t) + constant
O - g sin(5-2t) + constant
O ;Sé sin(5-2t) + constant

O - J;Q sin(5-2t) + constant
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4. Find the integral of i V6 x-2 with
respect to x.

O :é (6 x- 2)3/2 +constant
O ;Ig (6 x- 2)3/2 +constant

O

—d +constant
46 x-2

O (6x- 2)3/2 +constant

5. Find the integral of 1—2 with
2@3

t+5)
respect to t.

O - —3
2 (3t+5)
O 1
6 (31+5)
@) o1
3(3t+5)3

1
2 (3 1+5)

+constant
+constant
+constant

+constant

6. Find the integral of % e® -5 with
respect to t.

O 2 6‘5 t-5

+constant
15
O 2 6‘5 =5 | constant
O Jf 6‘5 =5 | constant
O JéQ 6‘5 =5 | constant
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